MCHG 3#7%]

B = T

ik -

® i AR 0 HhE
i o

© HURHEIS RS PR A IE T B - T AL - JE— MR P MR

® N[ SR L HEKEE0.05 -
© 2R BT BN A SR B 6 e TEDRHE A o

i SR 22 » HACHE J) F— i o

R B PR LR o

HIk -
= SN 7 5 MCHG-50 | MCHG-64 | MCHG-80 | MCHG-100 | MCHG-125
A TR - 712(mm) 8 12 16 20 26
MCHG—50(M)—P—RH><1 s T
ammigmm) 32 | 40 | s8 | 77 | o6
T fif i A8 72 45, 3~Tkgflem?
BIgE JE B U —5C~+60C (i)
w0 AHE @@%&T .
50 RS E FEE 0.05
% e e
128 it (kg) 023 | 041 | 08 | 14 | 24
FfiEsa

#ﬁ’l‘ﬁ

TH A 2 RS S EEOkgf/om’ B3

MCHG-50 MCHG-64
HRE AL ACEE T7E1.3KG A L=20mm PR ] A T /E3KGHAL=25mm
400 900
350 750 P>
g N~ g \\\Bﬁ
= 300 =X - = = 600 R
i —~— =+ f\\ i B So
2 250 ~ & 450 N
i~
200 300
0 0
0 10 20 30 40 50 0 25 50 75 100
TRRE L(mm) TFFRE L(mm)
MCHG-100 MCHG-125
FRER T A EE TAEFIKGHAL=32mm PHEG T A EE T/E15.5KGHAL=32mm
2500 4000
52000 == = S3500 Pt
< Rkt S £ [~ "r-lm
1500 B k. 3000 ~] " "F~ =
ﬁ Eﬁ \\ ﬂt Eﬂ \\‘~\\
21000 22500
500 2000
0 0
0 25 50 75 100 125 0 25 50 75 100 125 150

TFFRAE L(mm) TFFRAE L(mm)

® UL BE T 1Y) o ERAE AR B SR T2 AR T AR 52 » 338808 P T
YR 2 i (¥ 10~20 15 DA _E e s Iy OB ©
© 7 T /RGN 13 A BE B Al S 1 P IR 0 7 R 22 ] o

® SR Bl BT 470 5 2 A R

MCHG

-80

AT T /E5.3KG A L=25mm

2000

~1500
Z

-~ | b

1000

pid
< 500

250

0 25

HeFE R (mm)

BA 77 1 (<=3)

50 75 100 125

REHRE L(mm)

FA 5 1) ()



MCHG HBIR
5 = TR T

2 B
3-RR N2 N1
~—= 27T
AT
—
i ‘
S
<
S
L
A=, |
3-U
z(» Y D
R
] B
S 1
. TEDRHisH (P)
1 \ff
~smmigRe| |
2 |A|lB|Clcc/D|E|[F|[G|H|I |K|L|M|N|[N2|Q1|Q2|R [R1
MCHG-50 50 | 39 26.5| 30.5| 27 18 12 3 3.5 15 5 14 8 95 | 135| 38 12 25 5
MCHG-64 64 | 47.5| 32 38 32 20 13 4 4 19 5] 18 [10.2|10.5| 11.5| 44 14 25 5]
MCHG-80 80 | 56.5| 42 50 39.5| 25 16 5 5 26 6 23 (12.2| 10 | 18.5| 55 14 25 5
MCHG-100| 100 | 65 52 62 455 32 20 6 6 32 8 27 (142 12 | 19 70 20 25 6
MCHG-125| 125 | 76 65.5| 78.5( 52 40 24 85| 8 41 8 30 |16.2| 14 | 255| 85 20 25 6
Rk
e RR Qa s T |u|x|Y]| 2z
MCHG-50 (¢ 3.45:#,6C/BX5% P.C.D44 | M3X0.5X 7% | ¢ 3X 8% M5 o4 - 2 44
MCHG-64 |¢5.5%3%,10C/B X 6% P.C.D56 | M4 X 0.7 X 8% | ¢4 X 10% M5 o4 2 2.5 56
MCHG-80 |¢6.6%3H,11C/BX 8% P.C.D70 | M5X0.8X9%E | 65X 10%E | M5 65| 2 3 70
MCHG-100] ¢ 6.685,11C/B x 8% P.C.D90 | M6x1.0x 12| 65X 12% | PT 1/8| 6 | 3 90
MCHG-125| 9%1:8,15C/B X 102 P.C.D112| M6x 1.0x 123 | 6x16% | pT1/8| 66| 5 | 35| 112




MCHG Aﬂkﬂ

B = T

fr
L/ @]\
0.3 - -
L7705 =1 S “3 12+0.1
LS"O'E' v L3 = 0 :n__:.s 8 ¥ -
“ i [,Z:t 53 " e a. 3 3io 1
\l |
: Width
slot breadth - £ groov
+H. 03 2 g:'—OO\c
10 +001 4™
MCHG-64~125 MCHG-50
T
ET L1 L2 L3 L4 L5 L6 L7 L8 L9 L10
MCHG-64 20 13 5 4 25 10.2 4.5 b 4.5 4
MCHG-80 25 16 5 6 5 8 12.2 515 $5.5 5
MCHG-100[ 32 20 8 6 3 14.2 5.5 ¢ 6.6 6
MCHG-125| 40 24 8.5 8 8 815 16.2 515 $6.6 6

REME RS 73

AC/DC: 4~120V



	規格
	外觀尺寸
	應用例

